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= 54,724
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SA: 2ABAATA
Hu: B BY - BLE0F A
Cel JIETYY Y oL SN2

e
H

ra

40
]
%

A BB B9 (3H) - B (X o) o) s2

Al 25,450

207 A 50,900 50,900 0
= 25,450
Al 25,450

03 AlEH Y 50,900 50,900 0
= 25,450
Al 25,450

= 0ff &F 50,900 50,900 0
= 25,450
Al 25,450
FSAMSAMAAL THES I 50,900
= 25,450
Al 25,450

SMSAMTAI 2 2FH X 25,000 25,000 0
J| 10,000
Al 15,000

101 o144l 25,000 25,000 0
J| 10,000
Al 15,000

04 JI2tHZ2=2AsE= 25,000 25,000 0
| 10,000
Al 15,000

= 0l & 25,000 25,000 0
J| 10,000
Al 15,000
iS22 g4NUE ZAETA 25,000
J| 10,000
Al 15,000

FSAUSAMIAIZ ZAEH 2L XA 125,000 50,000 75,000
| 50,000
Al 75,000

405  RHAHHE S HI 125,000 50,000 75,000
| 50,000
Al 75,000

01 A& 2FSFHSHI 125,000 50,000 75,000
J| 50,000
Al 75,000
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2N BEAHSHBIAZRRA
Hz: HAH - 2H . SM2B0F AIEZA L ZAIER(BEA/EAHA2)
CHol: JISHAE 02 W BHE OFE 2R CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 125,000 50,000 75,000
Dl 50,000
Al 75,000
JIAIAZ20IEDNE 80,000
Dl 32,000
Al 48,000
AE Y 45,000
J| 18,000
Al 27,000
SYX g2 O|2AIR =8 HH| X (0IMHS 11,044 20,080 N9,036
)
Fag 11,044
207 AR IHEHI 11,044 20,080 N 9,036
Fag 11,044
03 AIEAHRH| 11,044 20,080 N9,036
Fag 11,044
= 0l & 11,044 20,080 N 9,036
Fag 11,044
AlE A 2 H| 11,044
Fag 11,044
HEMSHAY(BEAHSZHARLR)(IIEH/IIEH 12,688, 124 12,949,888 N 261,764
= 10,580
Dl 42,407
Al 12,635,137
ol 2AY| 12,263,644 12,502,046 N 238,402
= 10,580
Dl 42,407
Al 12,210,657
ol 2 H| 12,152,380 12,367,918 N 215,538
101 o121y 11,691,476 12,024,118 A 332,642
01 24 10,837,536 11,064,373 226,837
= 0] & 10,837,536 11,064,373 N 226,837
== 7,957,960
As A 2,551,094
-42
191,550

(94,740,000 +(94,740,000& *78%) *1.4%) *2
[w]

=}
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
S "2 (e &
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
-52
(78,960,000 +(78,960,000 x84%) *1.4%) *3 239,666
=
- (32)
97,440, 00021 +(97, 440, 0002 +78%) *1.4% 98,505
ol (43)
(101,808,000 +(101,808, 0002 x78%)*1.4%) 411,679
s
- (52)
(83,736,000 +(83,736,0002 *84%) *1.4%) *1 1,609,694
g
S 5,406,866
-6=2 4,098,000 x7H x12& x1.014 349,052
-72 3,455,000 x12H x12& x1.014 504,486
-82 2,490,000 *4H x12& x1.014 121,194
- 2 A 3,469,000 105 *12& *1.014 4,432,134
dz24 5,406,866,000% x1/12%50%*23] 450,573
Al 2FQl =& 824,278
52 14, 215@ x2H x44 Al 2t 128 %1 .014 15,222
= 12,1243 «7H x44 A 2t 128 %1 .014 45,438
2 10,952& *12H 44 A| 2t %128 %1.014 70,364
8= 9,832& *4H x44 A 2H %12 %1.014 21,056
R 14,2463 x2H *44 A 2128 %1 .014 15,255
A2 AL
11,686& *105Y 44 Al 2« 128 x1.014 656,943
o224 46,637
A AL 33,8953 x6H *8A| 2t*2462L x1.014 46,637
ERARS 100,000& *15H = 12& 18,000
s 97,200
B < Xt 40,000& =100 »12& 48,000
SEMAE, HASH S
20,000& *70H x12& 16,800
=M A 60,000 *35H x12& 25,200
0 (DIE 100,000 x6H 122 7,200
HI2LE Jar=2 80,400
- 208 0| & 100,000& *36H x12& 43,200
- 158 -204 0] 8t 80,000 x18H x12& 17,280
- 108 =15 0] 2+ 60,0002 *11H =12 7,920
- 5E-104 0] 8F 50,000& «x20H x12& 12,000
d2Y I3 6,600
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SN BAEAA
MM HH2AHAH(EHESZHR)(JIEH/IIE)
CHel: ol 2] S
% = = 0l &FoH & S T 0] AFoH ~
A . (3 AH) - HEMY - BHHES (ZE o) (I o) Hns2
- 20 -254 0] o 10,0002 *25% * 122 3,000
- 25 0] & 30,0002 «10H » 1228 3,600
Ezesre 72,600
23 50,0002 *105% « 122 63,000
=== 40,0002 x20H * 122 9,600
HeE2a4y 201,774,000 *4 . 1%+ 122 99,273
CHBRASGE 50,0002 x5 « 12” 3,000
ELXDEeBEELH) 8,760
.63, 72 30,0002 x10H » 122 3,600
- 83 20,0002 x2% 128 480
S ILAEZ2 (OIS &, JIAL
30,0002 «10H » 122 3,600
SIS (A DI AL) 20,000 x2% « 122 480
IS (2FE) 10,000 x5 « 122 600
S2UPL (LAY HWESUR)
50,0002 « 11 » 122 6,600
SIZUPLL(ZAMSAANHR)
250,000 152 =122 45,000
ELX(HIRHZRAL2LH)
80,0002 x 120 « 122 115,200
EL(HR2GIAZ 32014
60,0002 «12 » 122 720
SEX0HYE, ¥2HATY)
200,000 x 1 » 1228 2,400
DI A Rt 50,0002 x 12« 12” 600
o ALY 140,000 157 » 1228 263,760
RSN 5,406,866,0002 1/ 12x60%*23] 540,687
AJIEAHI (2R 430/ 4)
(701,734,000% x78%) *86%+11/360 14,384
I MHI(HEZR 53)
(239,666,000 *84%) *86%* 11/360 5,291
A2 AHI (P2 53)
(1,609,694 0002 *84%) *86%*11/360 35,532
HILEAH (EE2F)
5,406,866,0002 *86%+11/360 142,081
02 JIEtEE % 231,437 89,396 142,041
= 0fl At 231,437 89,396 142,041
23 208,974
B H(H R 2 53)
85,192,920 +(85, 192,920 »84%) * 1. 4% 86,195
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A BHEZARR
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Erol: ple 2oyl CER-E
SN HE B (BA) - MEAY - BHAS ggi) @(ijf;ﬁ% HRE2
- SEAIEA DM 62
(24,270,270 +(24,270,2702 x84%) *1.4%) * 122,779
N
s 4,320
- i < Xt 40,0003 4G x12& 1,920
SR A AE M ELIS (A=Y S
) 20,000 x4H x12& 960
0 (DIE| 20,000 *3H x12& 720
== (DIE| 60,000& *1H x12& 720
HHZAH| 140,000& x6H x12& 10,080
OB A (A2 2 532)
86, 195,000 *84%) *86%=*11/360 1,903
HAILE AHI (BHAI = A DI HI)
(122,779,000 *84%) *86%x11/360 2,711
NELES (M2 A 52) 86,195,000 *1.65% 1,423
NELES(SHAIEADIM)
122,779,000& *1.65% 2,026
03 222 (2I|H)2=NEE 622,503 870,349 N 247,846
= 0ol & 622,503 870,349 N 247,846
zZex gy 622,503
JE2S(FAEEALEIHS)
(2,584,370 x20H x128& )-132,860,000& 487,389
hhEs4 10,320
=N 40,0002 x7H x12& 3,360
- AE HQ 2LIHE (2 AH &4
%) 20,000& *19H = 12& 4,560
el [DNIE 20,000& x4H =128 960
-EM XA 60,000& x2H x 128 1,440
CHsrMXtH stdl K& 300,000& x3H 900
- M F A 140,000& »20H x12& 33,600
Y& 50| 2,584, 3703 20X *40%*2 3| 41,350
TR ESFINSE
13,300& *BAl 2t %20 20! 42,560
525G 13,300 *8Al 2F*150%*20Y 2 6,384
201 B2 A Y| 6,000 0 6,000
01 Ar®2te2ltl 6,000 0 6,000
= 0l & 6,000 0 6,000
222 24 (s,5t2, ¢Fs 5)
300,000& »20H 6,000
204 AP AHY| 360,503 343,800 16,703
02 AZzEXH| 360,503 343,800 16,703
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2N BEAHSHBIAZRRA
M. HMNSAHH (BEHESHATRK)(IIEH/DIIE
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;ﬁ% HRE2
= 0l & 360,503 343,800 16,703
HARABSAH) 500,000& ~12& 6,000
HARAUS N 400,000& x4H x12& 19,200
1= 400,000& 2H x12& 9,600
=1 250,000& »3H x12& 9,000
62 165,000& *7H x12& 13,860
= 155,000& 12 = 12& 22,320
8= 145,000& »4H x12& 6,960
o2 250,000& x19H «12& 57,000
H A 165,000 105 ~12& 207,900
EIONESRIDIDA 144,370& x5 128 8,663
303 A= 26,176 0 26,176
02 U&= 26,176 0 26,176
= 0ff &F 26,176 0 26,176
22X (2D H ) o2 26,176
PN PN = 3,444 090 *38%*20H 13| 26,176
304 HZRE2S 68,225 0 68,225
01 gd=84g=2 27,973 0 27,973
= 0l & 27,973 0 27,973
Z2EX(RI|H ) o 27,973
202822 621,601,000 x4 .5% 27,973
02 =20A2AEE2 23,778 0 23,778
= 0l & 23,778 0] 23,778
Z2RX(RI|H ) ol 23,778
AUEEHEE= 621,601,000 *3.43% 21,321
Lo QAEEEHEZ
21,320,000 *11.52% 2,457
04 Z2A(RIAH)22ANDEEE=EHSS 16,474 0 16,474
= 0l & 16,474 0 16,474
22X (2| H ) ol 16,474
NELEHERHZ 621,601,000& *1.65% 10,257
MHEEREEZS 621,601,000& *1% 6,217
o=y (0lol= & HdgHoe XM EX) 48,000 48,000 0
Dl 24,000
Al 24,000
101 [Slals] 48,000 48,000 0
Dl 24,000
Al 24,000
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2N BEAHSHBIAZRRA
B wEEAL(PASAAH)(IIE/IIE)
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
03 222 (2IAH)22 XS 48,000 48,000 0
J| 24,000
Al 24,000
= 0l & 48,000 48,000 0
Dl 24,000
Al 24,000
SO HAZ2Z2 X E 4 (2Y) 48,000
J| 24,000
Al 24,000
OleA2AH|(IGRA Z A XIH) 36,814 35,678 1,136
Dl 18,407
Al 18,407
101 ol 24 H| 36,814 35,678 1,136
Dl 18,407
Al 18,407
03 Z22A(RIHS)22NHE % 36,814 35,678 1,136
J| 18,407
Al 18,407
= 0l & 36,814 35,678 1,136
Dl 18,407
Al 18,407
SIHAZ2Z2NE S (29) 36,814
Dl 18,407
Al 18,407
olE=dyl(Alssas HAF XIE) 26,450 26,450 0
= 10,580
Al 15,870
101 [Slals] 26,450 26,450 0
= 10,580
Al 15,870
03 222 (2I|H)22NEE 26,450 26,450 0
= 10,580
Al 15,870
= 0ff & 26,450 26,450 0
= 10,580
Al 15,870
LI HA2ZNE S 26,450
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2N BEHEdAF2R
Y HN2AAY(BHSEARA)(DIEHDIE
£H9: olet2 el CERT
SH-EH. O (AN) - NRANY - B o) ) HDE2
= 10,580
Al 15,870
=2Z tl 424,480 447,842 AN 23,362
JI23l 424,480 447,842 AN 23,362
201 eI 107,040 103,920 3,120
01 At 2teltl 107,040 103,920 3,120
= Off & 107,040 103,920 3,120
S J=2agt 25,000
EEEEEET 21,125
SSRMAEL 3.875
o= 2| 44,040
EHEZIAREA 36,960
SSHMAE L 7,080
J2gesd S| 38,000
202 O dl 190,000 231,500 A 41,500
01 =AYl 190,000 231,500 A 41,500
= Off &t 190,000 231,500 A 41,500
ST HI 190,000
EAEIAZE 165,300
SR MAE L 24,700
203 YR 66,740 54,462 12,278
01 JI22ZdRFa| 26,400 18,480 7,920
= Off &t 26,400 18,480 7,920
2AE(32) 6,600
0E 2 AF(42) 3,300,000& x6H 19,800
02 HIAItAHAH R F A 12,620 11,088 1,532
= Off &F 12,620 11,088 1,532
1002 Dt K| 80,000 x100 8,000
101-300< It X 60,000 *77H 4,620
04 EN2IARFAHI 27,720 24,894 2,826
= Off &t 27,720 24,894 2,826
oS At 300,000& 123 3,600
ZEYHHAAR 405,000 =122 4,860
AAZTHAR 405,000 =122 4,860
o3 HAR 475,000 x12& 5,700
SEZHAR 425,000 x12& 5,100
SSHAMAE L 300,000& «12& 3,600
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